
  
 

 
     

BST 80×50 - 19

        
ĳôȌ ĀħĐ ġŅČ ī ĥóīý   •

ĲĠýÿŅȟ ĀȌóĀȌ ÿý ĥīôɁĨ   •
 ĳôȌ ĲȑÿóĀü ɐóĬȑ   •

ôĨĀĠ ȂȟóĬȈěȍ ī ĎȍŃĄ ġôɁȉȐó   •
ĞȈȍʂȍŃȌ ıłńǴ ɒɃ ıŃȅĠ ĭĀįɷ ôȌ ĲȉȪȐ ɐńþȌ   •

ĲȐĳĬČ ıłôĠþȐôĨ ī ȂȅɀȅĜ ôȌ ĚȅȑôȉĄóīŃɴěĤó ĞȐÿ ȩȫĬɺ   •
ȀćȐ ȂĐĀĄ ī ȂĤĬįĄ   •

:ĲȪȍôĨĀĠ ıôİ ĦȉăȅĄ čóĬȐó ôȌ ýĀĜÿôĜ ȂȅģȌôɄ   •
        ıłóĬɸý ȣôɃĬȫ ȗȅěȏ  ◦    

ıʂĜĀĨ ĮȐôȟÿŅȑĬĨ  ◦    
 ıþȅȫÿŅȟ ıôİ ĦȉăȅĄ  ◦    

ĲȪĤôğȞ ĀģȍŅɷ  ◦    
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.ȂĄó ĭþȫ ĮȄĄôûĨ ΔT=60 āôĄó ĀȌ ĲȑÿóĀü ɐóĬȑ ɆŅɃ ġńþȝ ÿý
                                                    ġŅĨĀɃ Ȣó þȅȐóĬȑ ĲĨ ،ΔTm þȈȐôĨ ĭóĬȜĤý ΔT āôĄó ĀȌ ĲȑÿóĀü ɐóĬȑ ĮȄĄôûĨ ıóĀȌ

.þɰɸôħȐ ĭýôɀȉĄó 
.ýÿóý ĊȅûĨ ĮȌ ȂȄăȐ ÿŅȑôȍýóÿ ĮĜ ȂĄó ĲȑÿóĀü Įȝÿý ȼĴȉȟó ΔTm 

٪ ١٠٠ ،         ôȏńłó ȂȅɀȅĜ ýÿóþȐôȉĄó ɇɷôċĨ ġôü ɒȍó ôȌ ،þȫôȌ ĲĨ ÿôȌ۶ ġýôďĨ ÿŅȑôȍýóÿ ýÿóþȐôȉĄó ýĀěģħĐ ÿôȪɃ
.þȐĀȅĠ ĲĨ ÿóĀɄ ȀȍŃȜȑ Ȃăȑ Ȃûȑ ÿôȌ ١٠ ÿôȪɃ ôȌ ī ĭþȫ ĲȉȪȐ Ȃăȑ ÿôȌ ٧/٨ ÿôȪɃ ôȌ ɐôȑĬɷ ıôİ ÿŅȑôȍýóÿ 
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